1 Corinthians 15:13




- is the transitional use of the conjunction DE, meaning “And” with the first class conditional particle EI, meaning “if and it’s true.”  Then we have predicate nominative from the feminine singular noun ANASTASIS, meaning “resurrection.”  With this we have the ablative of separation from the masculine plural adjective NEKROS, used as a substantive, meaning “from the dead.”  Then we have the negative OUK, meaning “not” plus the third person singular present active indicative from the verb EIMI, meaning “there is no.”

The present tense is gnomic or static present for a state or condition that has always been true and continues to remain true.


The active voice indicates that the subject produces the action, that is, that resurrection does not exist.


The indicative mood is a declarative indicative for a simple statement of fact.

“And if there is no resurrection from the dead,”
 - is the negative conjunction OUDE, meaning “and not, neither.”  Then we have the nominative subject from the masculine singular proper noun CHRISTOS, meaning “Christ.”  Finally, we have the third person singular perfect passive indicative from the verb EGEIRW, meaning “to be raised.”

The perfect tense is a consummative perfect, which emphasizes a past, completed action.  The English auxiliary verb “has” is used in the translation to bring this out.

The passive voice indicates that the humanity of Christ received the action.


The indicative mood is declarative for a simple statement of fact.

“neither has Christ been raised.”
1 Cor 15:13 corrected translation
“And if there is no resurrection from the dead, neither has Christ been raised.”
Explanation:
1.  “And if there is no resurrection from the dead,”

a.  Paul continues in his logic with another first class conditional clause, meaning this is a true statement—that there is no resurrection from the dead.

b.  But there is resurrection from the dead.  So what is Paul doing?  He is taking the viewpoint of the reversionists in Corinth and will use their argument against them.


c.  So Paul assumes the position of his critics and says, “Okay, let’s suppose there is no resurrection from the dead.”
2.  “neither has Christ been raised.”

a.  The logical conclusion from the false premise of Paul’s opponents is that there is no way Christ could be raised from the dead.


b.  If there is no resurrection, then of course Christ was not raised from the dead.  The fact that there is no resurrection and the fact that Christ was raised from the dead cannot both be true.


c.  So Paul is leading his opponents down the logical path to the end result—their illogical belief that Christ has not been raised from the dead.


d.  Paul doesn’t just tell these believers they are wrong, turn his back, and walk away.  Paul takes the time to patiently show them the logical error of their thinking.  This is a further demonstration of God’s grace and His love for them.


e.  God loves us even when we deny the resurrection of Christ.  2 Tim 2:13, “If we are faithless, He remains faithful, for He cannot deny Himself.”
3.  Paul does not believe this statement to be true, and so will refute it in the next few verses.

4.  If Christ has not been raised from the dead, then we have nothing in which to believe.

5.  If Christ has not been raised from the dead, then Christ was not the Messiah.

6.  If Christ has not been raised from the dead, then there is no eternal salvation.

7.  If Christ has not been raised from the dead, then we of all men are most miserable; for we suffer on behalf of Christ for no reason or purpose.
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